T 25 — SRBRRRAL | S5 8K

RS EE S FERER

CHELIC.

C AE4EE (TSB2 BR)

[ T T
EB—r, =
= =
O RER
EE BB (o 16 20 25 32 40 50 63
EE AL EERAL
fERREE =5
ERENER kgflem? (kPa) 1.5 ~ 7 (150 ~ 700)
RAEREN kgf/cm? (kPa) 9(900)
AR EE © 0 ~ 60
AR i 50 ~ 500 \ 50 ~ 350
HE BE#EN
O M5 x 0.8 \ Rc 1/8 \ Rc 1/4
O &t
(. I (- 9
[\ ) [\ )

© iR RBRE (-VU) O HFEEH A (-B)

© HMEEERE(ERM)

C BERERER
© TSB(U)2 Rl © TXB(U)2 %3
B :mm EfZ :mm
T () maTRE T ) mRTE
216 25~50~75~100 125~ 150 ~ 175 ~ 200 216 50 ~75+100 ~ 125~ 150
320 25~50~75~100~ 125~ 150 ~ 175 ~ 200 220 50~ 75100 ~ 125 ~ 150
325 25+~50~75~100~ 125~ 150 ~ 175 ~ 200 225 50 ~75~100 ~ 125 ~ 150
232 30~50+75~100~ 125~ 150 ~ 175 ~ 200 ~ 250 232 50 ~ 75~ 100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 250
240 30 ~ 50~ 75~ 100 ~ 125+ 150 ~ 175 ~ 200 ~ 250 240 50+~ 75+~ 100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 250
250 50 ~ 75~ 100 ~ 125 ~ 150 250 50~ 75~ 100 ~ 125 ~ 150
263 50 ~75~100 ~ 125 ~ 150 263 50 ~75~100 ~ 125 ~ 150

6-11.17

TB(U)2
BiHR
SUEL

TSB(U)2
BieEn
il

TXB(U)2
BigEa

SUEL

TMB(U)
Mg
FHIEA

GCB(U)
crimig
RS

GHB(U)
HELEHE
RIS

TCR
=8
TEFHREL
TCF

ga
TBF R



TRY — SEBFIRKI | S5 BaREL
it RTS8 R EA CHELIC.

C HFEHANE
i #H -
= — o =
© TSB(U)2 K © TXB(U)2 B3¢
B @ kgf
il i 0 8 BE | SEER = i
(mm) (mm) (cm2) 1 2 4 5 6 7
# 2.01 - 4 6 8 10.1 12.1 14.1
16 8 -
Eina 1.51 — 3 4.5 6 7.6 9.1 10.6
# 3.14 — 6 9 12 15 18 21
20 10 =
i 2.35 — 4.7 7.1 9.4 11.8 14.1 16.5
ki3 4.90 — 9 14 19 24 29 34
25 12 =
Eivd 3.77 - 7.5 11.3 15.1 18.9 22.6 26.3
# 8.04 - 16 24 32 40 48 55
32 16 =
Eivd 6.03 - 12.1 18.1 24.1 30.2 36.2 42.2
# 12.56 12 25 37 50 62 75 87
40 16 =
Fivd 10.55 10 21 31 42 52 63 73
# 19.63 19 39 58 78 98 117 137
50 20 =
Eivd 16.49 16 32 49 65 82 98 115
# 31.17 31 62 93 124 155 187 218
63 20 -
Eivd 28.03 28 56 84 112 140 168 196

A 1.TXB(U)2 RI ZH N BRI ZHE -
2 EEREREE  RFERAA, AEREREDREHMMEEHMEGE - (948 70% ~ 80%)

C =T B ISR

T (e (e m e -Cselz -Cam] 2

| #wEas || SenwsEg | | mumE | | guasre | | sEzs | | #6528 |
——
16 - @16 mm @16 25-200 mm
20 - @20 mm @20 25-200 mm
25 - @25 mm @25 25-200 mm CS-30E(F) [SE]2|
TS : BiRBHRRIL B2 : $§75RREhK 28505% (CS-30E) A : HER{EM@ES
o - - V' N
P ‘ 32 - @32 mm @32 30 -250 mm e
40 - @40 mm 40 30 -250 mm =148
2=2#
50 - @50 mm @50 50 - 150 mm
¥ 5E:TXB(U)2 73 #AR CS-30F
63 - @63 mm @63 50 - 150 mm |

TX: SAEBAR U2 : gtk ¢ BEIRAREIR P.6-9.20 ——
(BEBEE ) %

O HEEERERR

cs-9D sD[2
RAAE EHBERE BARBAED | > 99  mBEESAETHAEZHE, B (CS-9D)
16 | SAC- 1008N 04 Kgim ESUEL IR AL 2 SEEINAE :zg (C5-98)
20 SAC - 1008N 0.4 Kgf.m (ERBRFIEAAAM O R3R) © =118 o o
25 SAC - 1008/ SAC - 1210 | 0.4/0.5 Kgfm 2- 2 B
32 | SAC-1210/SAO-1410 | 0972 KoM |, rsp(u)2, TXB(U)2 4i4s @32, 040 F572 B (1) TSB(U)2 , TXB(U)2 #48
40 SAC - 1408/ SAC-1416 | 1.5/2 Kgfm (L) "L (A) StE ’ Tz R 216 z26 225 B CS-9D
50 SAT - 1412/ SAT-2015 | 1.5/5.9 Kgfm 125 BLE , AR SAC - 1416 - ' ——— -
63 SAT - 1412/ SAT - 2015 1.5/5.9 Kgf.m

6-11.18



TSB(U)2 &% — FiRHFIREEL
SMERER R CHELIC.

©CTSB(U)2 @16 x|

TSB(U)2 16 x I ST

SORBRARERR (ALK )
#24%: SAC-1008N

_ 4Max0.7P 4-04.5 B8 1EH, 08x4.5 3 2-M5 HEHEA
(M)
; + o =
—\Is 13 :
®
& &
¥, 7
o S | o © 4-M4x0.7P
= oo}
3 8l g ¢ 3 8§ K ()
> | o W
@
@) -
|
14 19| 9| 8|8 6
NN
18 6 20 Slo 12
DB L_’
1] 25 1 12| 2 Fle
4-M4x0.7P c
(ME)
) 2-M5
4-M3x0.5Px7 % (EHRAL) TB(U)2
(T ) o puiall
"’1 B—a -
(o))
! TSB(U)2
L @ - iR
P
17 D
26.5 26.5 TXB(U)2
WLRE
p
4-M5x0.8Px10 %
620 A HIHLO8x45 & o
- TMB(U)
MEEE
© ! s
33 - g 3
GCB(U)
. . cwais
? ? FALE
— - GHB(U)
. HaEvGE
L L] L. FAAS
O RI%K v EIERMY /  HEBEES
. ”fmim) 25 50 75 | 100 | 125 | 150 | 175 | 200 'Eﬁcmk
A 30 | 55 | 80 | 105 | 130 | 155 | 180 | 205 L
B 70 95 | 120 | 145 | 170 | 195 | 220 | 245 TCE
c 123 | 173 | 223 | 273 | 323 | 373 | 423 | 473 @4
B R
D 36 61 86 | 111 | 136 | 161 | 186 | 211

FHREFESRE P.6-11.33

6-11.19



TSB(U)2 %5 — EiFBIRREL
SMERERRT

CHELIC.

O TSB(U)2 @20 x [

SOmBAEERR (R )

##%: SAC-1008/SAC-1210

TSB(U)2 20 x I ST

_4-M5x0.8P 4-04.3 Bifs AL7, @8x6.5 iF 2-M5 SEHFAL
(M)
. - o
s + snllimnif s
% | 4 ¢ & °
© ° = 4-M4x0.7P
8 N o S 3 ¥ 7 S (i )
* 4
B
@), - |
o | N
18 10| 110 sls 6
N | N
21 6 25 Sl b%
15| 290 |15 12| 2 @@
4-M4x0.7P c
(M)
4-M4x0.7Px8 R 2-M5
() LR N
C N
lot ©
- I
LA 4] &
20 D
30 30
4-M5x0.8Px10 ;3
6 25 A BALO8x45 & o
© ©
o N o N
| < @ <
, .
O RY& v EIERMY /  HEBEES
e =25 50 75 | 100 | 125 | 150 | 175 | 200
A 22 47 72 97 | 122 | 147 | 172 | 197
B 72 97 | 122 | 147 | 172 | 197 | 222 | 247
c 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475
D 32 57 82 | 107 | 132 | 157 | 182 | 207

6-11

.20

FHREFESRE P.6-11.33



TSB(U)2 &% — FiRHFIREEL
SMERER R CHELIC.

©TSB(U)2 @25 x|

TSB(U)2 25 x I ST

SOmBEER (GERCH)
#51%: SAC-1008/SAC-1210

_ 4-M6x1.0P 4-95.5 Bl 17 99 x 937 2-M5 A
(i)
Q -
——\X% = 4
\}ﬁﬁ & 7 @
v D
~ g N 2 4-M5x0.8P
8 8| S| 8 ¢ 7 3 (@)
ecs »d
®
@l . i
‘ Sl
20 119 119 SIS 7
N[N
24 7 25 A §@ m
15| 35 |[15 14] 4 212
4-M5x0.8P c
(/)
4-M4x0.7Px8 ‘ 2'—_M5 TB(U)2
(7 ) HEHRA © ISR
N L
o b Y
L] o | & TSB(U)2
i iR
N ‘ o il
31 31
TXB(U)2
wieRL
4-M6x1.0Px10 il
7 2 A B O9x75 &
TMB(U)
ol © < © FEAE
o < ™ <
N . GCB(U)
caugie
FHAAS
GHB(U)
L Lom LT
FAERE
O R¥% v RERG  HBEES
g =25 50 75 100 | 125 | 150 | 175 | 200 TCR
A 23 48 73 98 123 | 148 | 173 | 198 %ﬂﬁﬂ
B 73 98 123 | 148 | 173 | 198 | 223 | 248
c 134 | 184 | 234 | 284 | 334 | 384 | 434 | 484 £fF
=09
D 33 58 83 108 | 133 | 158 | 183 | 208 TRFAREL

FHREFESRE P.6-11.33

6-11.21



TSB(U)2 %5 — EiFBIRREL
SMERERRT

CHELIC.

O TSB(U)2 @32 x [

TSB(U)2 32 x I ST

4-M6x1.0Px10 &

vV IREGRY  HEEES

FHREFESRE P.6-11.33

% CREEAEEIRE (GRRY ) 4-25.5 BB 17 99.5x11R
(&) 1818 SAC-1408/SAC-1412 \
. b o ==
7j@<>@j /
" I
A
o |? & S v
Calics 3 7 e
S T 8 8 | % 3
@] @1 =
ol
ol
{ Bl
2l ]
12 12
|22 | 12| LY gg 8.5
30 8.5 30 A Slo
g L
1.75 40.5 1.75 175 2-Rc1/8
4-M6x1.0P c (EHEA)
(MiB)
2-Rc 1/8
17.5 (GEHFAN\ 175
] T e
8 D
U
7 P
© 4
27 ‘ D 4-M5x0.8Px10 i#
()
4-M6x1.0Px10 7%
8.5 30 A fEFL @95x6 KX g5
@ ©
2 8 g ]
O RI=®
. Bl 30 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250
A 23 43 68 93 118 143 168 193 243
B 83 103 128 153 178 203 228 253 303
C 157 197 247 297 347 397 447 497 597
D 29 49 74 99 124 149 174 199 249
6-11.22



TSB(U)2 &% — FiRHFIREEL
SMERER R CHELIC.

©CTSB(U)2 @40 x|

TSB(U)2 40 x I ST

8 - M8x1.25P SORBREERS (FERMH) 4-06.8 B8 417, 911x13.5 iF
#71%: SAC-1408/SAC-1412
gl imainif =
_\ ‘. -
}'J} 4-M8x1.25Px12 iF
2
e ? @ e > ()
< e |
& T
@ py
85 12| 12| alx 85
7] |30 A %% |17]
22 B 2-RC1/8
c (EHEA )
2-Rc 1/8
18 : 18
] ELE 18,
(EHFAL) ‘ o TB(U)2
w w I
o] &7 ® E
L] & D TSB(U)2
97 b 4-M5%0.8Px10 & B
(P ) =
TXB(U)2
4-M8x1.25Px12 & BiREa
7L O x65 2 mﬁ
85 30 A T 85
® TMB(U)
al « o < M
S 3 ® S Eries
* © M GCB(U)
cugiz
‘ AEES
L ‘ @ @ j GHB(U)
HEEE
AEES
C Rt vV EEfRY  HEBEESR
Mg @m| 30 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 TCR
A 23 | 43 | 68 | 93 | 118 | 143 | 168 | 193 | 243 -
B 83 | 103 | 128 | 153 | 178 | 203 | 228 | 253 | 303
c 157 | 197 | 247 | 207 | 347 | 307 | 447 | 497 | s07 TCE
=09
D 20 | 49 | 74 | 99 | 124 | 149 | 174 | 199 | 249 TEFAEL

FHREFESRE P.6-11.33

6-11.23



TSB(U)2 %5 — EiFBIRREL
SMERERRT

CHELIC.

QO TSB(U)2 @50 x[ | TSB(U)2 50 x ST

8 - M10x1.5P MOMBRAEERR (BACH ) 4-08.5 Bi& KL D14x17.5 iF
(/M)

FH&: SAT-1412/SAT-2015

N - .
; & imiii s
1 1
r Loy | s
. N \ : N 4-M10x1.5Px15 3%
& —
b 1o g © © - (iE)
S 22 Hg
] Y Z
19 :
) L
@y 1 e i
NN
[
L - 15 15\ S|s 85
40 2|2
w7 s | A zlg |l
2. 5 21 2-RC 1/4
c (EHRAL)
2-Rc 1/4
17 GEHEA)\ 17
| 1 e
- P > >-®
N
;
L+ @
30 D 4-M8x1.25Px12 i
(A )
30 A 4-M10x1.5Px8 %
19 19.‘ 85
p | |
f —c: &
¥ 8 8 = 8 8
& &
o 4-4EFLO14x85 F
OC R~% Vv BIERY HEEER
e = 50 75 | 100 | 125 | 150
A 38 63 88 113 138
B 98 | 123 | 148 | 173 | 198
c 194 | 244 | 204 | 344 | 394
D 38 63 88 | 113 | 138

6-11.24

FHREFESRE P.6-11.33




TSB(U)2 %5 — EiFBIRREL
SMERERRT

CHELIC.

O TSB(U)2 @63 x[ | TSB(U)2 63 x I ST

8 - M10x1.5P SCRBRMBEES (BAE ) 4-08.5 B, L7, O14x21.5 7
(M2) H%: SAC-1412/SAC-2015 \
- + afliniini =
—\T% — — :
1\ €§% - i ‘ S| st spxts
% | e @ ©— 1 (W )
:EE 8% 8 e
Y Z
ot < ;
@k
¥ T 2lg N
44 es] || 15 5\ sl L)
50 2|0
2| 68 e . e -
21 B 2-RC 1/4
c (EHFA )
2-Re 1/4
17 e 17
'2) SEASSHAZ
3] i e Eiii
L s & TSB(U)2
31 D 4-M10x1.5Px15 & ﬁﬁf’m
(MmE)
TXB(U)2
31 A 4-M10x1.5Px15 i sl
85 20 goT 8.5
y | |
iz iz TMB(U)
3 8l s e 8 Riria
® GCB(U)
cumi
FALE
HAD14x215 E GHB(U)
o= HAE
FAAS
O RY& v EIERMY /  HEBEES
. TR | 50 75 | 100 | 125 | 150 TCR
A 38 63 88 | 113 | 138 -
B 100 | 125 | 150 | 175 | 200
c 194 | 244 | 204 | 344 | 304 ng
=09
D 38 63 88 13 | 138 TR

6-11.25

FHREFESRE P.6-11.33



TXB(VU)2 &% — Ei8BaRIL
SMERERRT

CHELIC.

CTXB(U)2 @16 x[_]

T

I

T——
ELiC

@ TXB(U)2 16 x I ST

s

4-04 358, F1FL I8x4.5 %

©
(
H‘ © \ 7
i @ o |
T/ ) = ] Q =] o
’L:} 2 = =
! @ © D
[ 4
/ n H L LUEEY B
| i T %
_ LAl
T 4-M5x0.8Px107% T
19.5] 20 A
25 E
2-M5EHETL
(ARHE10) 4-M3x0.5Px7 33 5%
(A ) / <
o 2
+ ey — N
~— N g
&
17 D ~
SOMBRARERE (EAM) 4-04.3 B3 417, @8x4.5 iF 4-M5%0.8Px103F
F#H#&: SAC-1008N
§ S e
© f A m T
< NEER | i EEENY
/
/
Rl ; é
© @ 8
3 % &-88 5
& ©r &
0 | 0 -
Q|
6 20 A o 6
12| B Z|® 12|
8 c e 8
O RY& . o
— v EERE / HEEESS
Mg w50 | 75 | 100 | 125 | 150
A 55 80 105 130 155
B 95 | 120 | 145 | 170 | 195
c 173 | 223 | 273 | 323 | 373
D 61 86 | 111 | 136 | 161
E 161 | 211 | 261 | 311 | 361

FHREFESRE P.6-11.33

6-11.26



TXB(VU)2 &% — Ei8BaRIL

ShEER R~

CHELIC.

CTXB(U)2 @20 x[_]

BEY
31
2-M5 HEHRFF
(ARAEEHE12)

@ TXB(U)2 20 x I ST

s

4-055 Eif,
1EFL 99.5%5.5 &
o & & @
— =) o
= = =
Sl © ©
N \
\
L] ] \ ||
imE i S = H
S i = [
r b T\ 4-M5x0.8Px10 iE 1
25 A FEALO8x45 &
E
4-M4x0.7Px8;F A
(@) -
% $ %
N &P 1 P
N ™ 5
@ iy —
20 D o

MOmBEEE (HECH)

##%: SAC-1008/SAC-1210

4-M6x1.0Px10 3%

g %% i _m
A S St e’
o o o ¢
N ¥ S Y
©| o (= S Py o ©
@©| © — 4 “‘f ™| (2]
il
K N
6 25 A 8|8 6
2 B 2le |z
6.5 c FlE 6.5
O RY%® . o
— v RERH  HEEES
. = s0 75 | 100 | 125 | 150
A 47 72 97 | 122 | 147
B 97 | 122 | 147 | 172 | 197
c 175 | 225 | 275 | 325 | 375
D 57 82 | 107 | 132 | 157
E 163 | 213 | 263 | 313 | 363

6-11.27

FHREFESRE P.6-11.33

TB(U)2
BiHR
SUEL

TSB(U)2
BizEn
il

TXB(U)2
BigEa
il

TMB(U)
MESEL
RIS

GCB(U)
crimig
RS

GHB(U)
HEEE
RIS

TCR
=8
TEFHREL

TCF
He

J&FREL



TXB(VU)2 &% — Ei8BaRIL

SMRERR CHELIC
CTXB(U)2 @25 x[ | TXB(U)2 25x ST
H 4-@5 5838,
40 1E71.99.5%5.5 7R
|
O 5 &
© ©
= = <
= =
ol © 4{
\
L] — . ||
st S &
N L
T B T\ 4-M6x1.0Px10 3R T
14 % A 09 x 75 &
35
2-1/8 EHFFL
AELE14
(7AHE) 4-M4x0.7Px83E WA
(A ) o
& =
R
ks g3 A,
™)
©
20 D ~
SOMBRAEEIEE (ER) 4-@5588 17,995 %9 R 4-M6x1.0Px10 %
JE1%:SAC-1008/SAC-1210
o WN H1/ o rm
N T HL [ B
N N Q
8 8 9 ©-—-3-5 g
S ¥
o ]
7 25 A SIS 7
14 E 2 15
115 c FlE 15

O RI%E -
vV IREGRY  HEEES

e G| s 75 | 100 | 125 | 150

48 73 98 123 148
98 123 148 173 198
184 234 284 334 384
58 83 108 133 158
170 220 270 320 370

m oo w >

FHREFESRE P.6-11.33

6-11.28



TXB(VU)2 &% — Ei8BaRIL

SMRER R+ CHELIC
CTXB(U)2 @32 x[ | TXB(U)2 32xJST
% H H 4-06.8 iR,

A 911x6.5 F

F‘

N
©-
- {){\

(&

&
T
Ly

_i

Iz
\

\
r
e

16.5
40.5

2-Rc 1/8 EHFIL

HFD9.5%x 6 F

T\ 4- M6x1.0Px10:Z
30
E

(REHE17) 4-M5x0.8Px10;3 WA
(&) a
5 — :
N = ¢+ e, TB(U)2
i g FieaR
5 L
27 D ~ TSB(U)2
Bieka
REL
SORBHESISE CERM) 4-05.5 B K7L 09.5%11 12 o -
545 SAC-1408/SAC-1412 A= MBx1.25Px12%
. o TXB(U)2
N s o M o M W isdtl
N N H,,,7Z,J_l \_IL,,H BN et
& ‘ — = A
ol o ] o o TMB(U)
=® hillks © Mzge
BAAS
-
GCB(U)
cmmig
THAE
el T
8.5 30 A 2 8.5
17 B S|lao 17 GHB(U)
12 c Bl 12 A
RHEA
O RY& . o
—_ v ORIERY  ABEES
K3 ”fmim, 50 75 | 100 | 125 | 150 | 175 | 200 | 250
TCR
A 43 68 93 | 118 | 143 | 168 | 193 | 243 o
B 103 | 128 | 153 | 178 | 203 | 228 | 253 | 303 SRR
c 197 | 247 | 297 | 347 | 397 | 447 | 497 | 507 TCE
D 49 74 99 | 124 | 149 | 174 | 199 | 249 )
TEF A
E 180 | 230 | 280 | 330 | 380 | 430 | 480 | 580

FHREFESRE P.6-11.33

6-11.29



TXB(VU)2 &% — Ei8BaRIL

SNRERR T CHEHE
O TXB(U)2 240 x [ (©) 1xB()2 40 x = sT
54 ! !
4-06.8838,
: ©. FEFL @11%x6.5 7%
Wg}ﬂ 2
\ G ) ¢
Ly =y =
TN E Y =
)] © ©
L/ \
§ L | |
[ | [ ]
T [\ 4-M8x1.25Px10;% N
21| 30 A HALOM %65 F
49
[ 2-Rc1/8 EHFA
(RAEE17) 4-M5x0.8Px10 WAa
(i ) ©
oS P
+ $, * E{
oo
< |0 gl"
&
27 D ~
SOREAEEEE GERM) 4-06.8 73 111l 9113135 R
1% SAC-1408/SAC-1412
e — _4-MBx1.25Px12%
N [ - -] LT
L j,J_l - i Y
ol o S—1f57 | ¢ ¢
1Ml & § _
&g 53 3
S —
ol w
85 30 A NS 8.5
17 B 22l
12 c i 12

O RI%E

4= 100

Mg m| 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250

vV IREGRY  HEEES

43 68 93 118 143 168 193 243
103 128 153 178 203 228 253 303
197 247 297 347 397 447 497 597

49 74 CE) 124 149 174 199 249
180 230 280 330 380 430 480 580

m oo w >

FHREFESRE P.6-11.33

6-11.30



TXB(VU)2 &% — Ei8BaRIL

SMRET R < CHELIC
O TXB(U)2 @50 x [ (©) 1xB(u)2 50x = 5T
4-FE7L014%8.5 F
62 ! i 4-085 85,
© 7, 914%8.5 8
D &
— —7 /
© &
- I E-1 B =R
©
] A— D i
H—1 r—H
I H W
Rl o - 4-M10x1.5Px8F N
27 19 19 —
60 E
2-Rc 1/8 EHREA
(R"BEHE1T)
4-M8x1.25Px123 BE
(A ) \ N
NI & & 1 o
ol o o TB(U)2
N © 3 ISR
& & SEEL
30 D o TSB(U)2
A
EEas
NOMBEERR GEECH) 4-08.5 8,
$B#&: SAC-1412/SAC-2015 HILO14x17.5 R TXB(U)2
%ﬁmi—' = —H hm Tl 4-M10x1.5Px 1558 WieEL
] A = 5 —_— T
g7/ i Y S g n)
N @@ TR g P
NY Q
glg B ol e TMB(U)
== H 1 = = MAEsEiE
TS
| S
GCB(U)
cmie
ole | ] RS
NN
8.5 30 A g 8 8.5
17] B ; ) l17. GHB(U)
HEEE
13 [¢] == 13 A A
O Ra% N
__ v EERY  HEEES
e = 50 75 | 100 | 125 | 150
TCR
A 38 63 88 113 | 138 .
B 98 | 123 | 148 | 173 | 198 SRR
c 194 | 244 | 294 | 344 | 394 TCE
D 38 63 88 113 | 138 E
TEF R
E 177 | 227 | 277 | 327 | 377

FHREFESRE P.6-11.33

6-11.31



TXB(VU)2 &% — Ei8FaRIL

SMBERRT cHELIC
O TXB(U)2 263 x [ (©) 1xB(u)2 63x = 5T
77 4 4 - P8.5838,
© HILD14%8.5F
©
: f E e 38
=
O
i S 2
I
- 4 - @10x1.5Px15dp
34 20 —
75
2-Rc1/8 #EHEAL
(AEEHET7)
4 - M10x1.5Px 15 L]
(PR ) o~
b <§ + <
™
B[R ©
©
31 D
MORBRIEERS (AL )
3545 - SAT-1412/SAT-2015 4085
117l 914x21.5

4 - M10x1.5Px15 ;%

R o HA =
NN S S/ L H
I ¥
g I
38 B g 2
@ b
gl8 M
8. 31 A NN 8.5
7 N
B 2z 17
13 RIE 13
O RI=® . . o
— vV EERE / HEEESS
. G| s 75 | 100 150
A 38 63 88 138
B 100 | 125 | 150 200
c 194 | 244 | 204 394
D 38 | 63 | 88 138
E 177 | 227 | 277 377

6-11.32

FHREFESRE P.6-11.33





